Twinkle, Twinkle	T015 sample solution


Solution:


A star centered on the origin can be thought of as a collection of functions of the form


..., –4x, –3x, –2x, –x, 0, x, 2x, 3x, 4x, ...


A star centered at the point (0,b) can be thought of as a collection of functions of the form


..., –4x + b, –3x + b, –2x + b, –x + b, b, x + b, 2x + b, 3x + b, 4x + b, ...


A star centered at the point (a,0) can be thought of as a collection of functions of the form


..., –4(x – a), –3(x – a), –2(x – a), –(x – a), 0(x – a), (x – a), 2(x – a), 3(x – a), 4(x – a), ...


A star centered at the point (a,b) can be thought of as a collection of functions of the form


..., –4(x – a) +b, –3(x – a) +b, –2(x – a) +b, –(x – a) + b, b, (x – a) +b, 2(x – a) +b, �3(x – a) +b, 4(x – a) +b, ...
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